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QUESTION 1

Which of the following reports are available on the CMC appliance? (Select 4)
A. Optimized Throughput

B. Traffic Summary

C. Current Connections

D. Connection History

E. Data Store Hit Rate

Correct Answer: ABDE

QUESTION 2

A customer with a new physical in-path installation decides to turn on the optimization service during lunch time on a
working day. This is done so that he can see if the users perceive any performance improvement. When starting the
optimization service, he does not enable the in-path kickoff option. Assuming there were several already active
connections when he starts the optimization service, how will the Steelhead appliances handle these existing
connections?

A. The Steelhead appliance will optimize all connections, including pre-existing

B. The Steelhead appliance will pass-through all pre-existing connections, leaving them un-optimized

C. The Steelhead appliance will reset all pre-existing connections, thus automatically changing their optimization status
from un-optimized to optimized

D. The Steelhead appliance will list the connections as "pre-existing” on the Current Connections page
E. BothBand D
F. Both C and D

Correct Answer: E

QUESTION 3

What is configured in an Acceleration policy? (Choose the best answer)
A. Redundant Steelhead Mobile Controllers

B. In-path rules

C. Group IDs

D. Port labels
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Correct Answer: B

QUESTION 4

Which user roles and permissions are supported by the CMC appliance? (Select 3)
A. Read-Only

B. Read/Write

C. Write-Only

D. Deny

E. Accept

Correct Answer. ABD

QUESTION 5

When optimizing applications that open many short-lived HTTP connections, which operating mode will give the best
performance?

A. Full Transparency

B. Full Transparency with reset

C. Correct Addressing

D. Port Transparency

E. Any of the above, because performance is not affected by these

Correct Answer: C
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